Chapter 1 Review Extra Practice Answers

1. a) Not a function, D = {0, 1, 2, 3} _x+7
R={-9,—-8,—-5-4,0} -2y =7
b) Function, D = {—2,—1,0, 1, 2} 3
R = {0, 1,2} by=7-4
¢) Function, D = {2, 4, 6, 8, 10} 0y = V¥ -3
R = (=630 By = Vi1
d) Function, D = {5, 15, 25, 35, 45} —
R = {10} e)y=i\/5x+15
e) Not a function, D = {12} 1
R = {-10,—5,0} 6.2)
f) Function, D = {—0.2,—0.1,0, 0.1, 0.2} b)5
R = {1, 2, 3} 1
2.2) D = {xeR} 9 243
R = {ycR|y = 0} d)3
b)D = {xeR} e) —45
R = {yeR)y = —4} b
c D = {xeR} 27
R = {yeR|y = 0} 5
d)D = {xeR} 7. a) {(0, —>, (3, 12)}
R = {yeR|y=7} °
e) D = {xeR} 17 7 _
() 0o
f) D = {xeR} ) {(0,=7), (5,—1)}
R = {yeR[y= —35} d) {(0,—12), (5,30)}
1 3
3.a)y—; e) {(—1,1),(0,2>,(4,1)}
b)y =%y = [x] £) 1(0,4), (5,55)}
y=Vxy=s'y=|x
d)y=2"
y=xy=x5y=|x|,y=sinxy= Vix
£)y= Vi

4. a) Compress horizontally by a factor of 3. Translate
right 4 units and translate up 2 units.

b) Reflect in the x-axis and stretch vertically by a
factor of 3. Reflect in y-axis. Translate left 1 unit.

) Compress horizontally by a factor of §. Translate
right 3 units and translate up 5 units.

d) Reflect in x-axis. Translate down 12 units.

e) Reflect in x-axis and stretch vertically by a factor
of 4. Compress horizontally by a factor of §.
Translate down 11 units.

f) Reflect in x-axis and y-axis. Translate left 2 units
and down 1 unit.
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